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S5 1T —T1H 802 1,669 831 838
5 T —TH 554 1,300 640 660
5k T —=TH 758 1,621 828 793
* 3k /phE * %k 2,114 4,590 2,299 2,291
Z=oalil — 1 H 1,261 2,558 1,238 1,320
el —TH 1,227 2,285 1,116 1,169
el —= 1 H 1,340 2,680 1,311 1,369
=il uTH 836 1,962 982 980
x %k /phEF * % 4,664 9,485 4,647 4,838
Aok — T H 1,017 2,042 975 1,067
Aok —TH 1,015 2,108 1,003 1,105
Aok =TH 1,722 2,975 1,394 1,581
=k L E! 1,113 1,785 860 925
x %k /phEF * % 4,867 8,910 4,232 4,678
gl — T H 1,009 1,998 991 1,007
gl —TH 689 1,639 825 814
gl =TH 1,170 2,575 1,260 1,315
gl L E! 925 1,979 991 988
* 3k /i % % 3,793 8,191 4,067 4,124
PHET)I — 1T H 888 1,841 898 943
PRET)I| —TH 747 1,652 768 884
PRET)I| —TH 362 797 375 422
PRET)I| MWTH 1,388 2,913 1,458 1,455
* 3k /i % % 3,385 7,203 3,499 3,704
* k 2REE* % 43,077 83,579 40,466 43,113

e A H
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FR AR —TH 3,065 6,371 2,961 3,410
FRAHT  — T H 743 1,540 755 785
FRAHT =T H 1,206 2,636 1,290 1,346
FOiRART PUTH 2,118 3,564 1,552 2,012
*k  /hEE kk 7,132 14,111 6,558 7,553
o IR — 1 H 1,156 2,054 997 1,057
o AR —TH 976 1,999 1,011 988
o AR —=TH 1,476 2,867 1,409 1,458
o AR T A 678 1,434 698 736
o AR LT H 1,871 3,690 1,879 1,811
*k  hEE kk 6,157 12,044 5,994 6,050
VG iR —T1H 790 1,141 575 566
VG iR —TH 495 929 414 515
*k  hEE kk 1,285 2,070 989 1,081
JEFIIR — 1 H 740 1,205 563 642
TR —TH 754 1,498 735 763
TR =TH 547 863 428 435
*k  hEE kk 2,041 3,566 1,726 1,840
HUFIIR — 1 H 2,054 3,134 1,420 1,714
HUFIIR —TH 809 1,321 617 704
HUFIIR —~TH 959 1,684 794 890
HUFIIR T H 412 615 300 315
TS 4,234 6,754 3,131 3,623
5 — T H 582 1,083 549 534
5 —TH 765 1,615 826 789
5 =TH 1,410 2,675 1,317 1,358
Y5 T H 648 1,282 632 650
TS 3,405 6,655 3,324 3,331




